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Question Number : 1 Question Id : 6232177060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

[f there 1s unrest 1n the college, the main reason may be

Options:



Management
1.

System of education

2.

Teacher
]
P Student

Question Number : 2 Question Id : 6232177061 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Students like the teacher most because he
Options:

1 Gives more marks

Maintains student discipline
z.

Shows concern about students

Avoids meeting the students
4,

Question Number : 3 Question Id : 6232177062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A teacher can prevent the fluctuations of attention of the students in the classroom by
Options:

. Reprimanding them

Using proper stimulus
2.



_ Implementing rules strictly

Repeating the important points
4,

Question Number : 4 Question Id : 6232177063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Teacher should correct the work done by the students by following one of the techniques

Options:

I11 treatment

) Pass and ftail

Good relationship
B

Bad Aftect

4.

Question Number : 5 Question Id : 6232177064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Over — motivation by teacher in the class room leads to
Options:

1 I1] treatment

Good environment
2.

Good relationship
o

Bad Aftect



Question Number : 6 Question Id : 6232177065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
‘Achievement Motivation’ can be influenced mostly by

Options:

. Reinforcement by teacher
, Environment
_ Teaching — learning material

Self — Evaluation by student

4

Question Number : 7 Question Id : 6232177066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A teacher can 1dentify a disabled with the help of
Options:

Who 1s affected by the environment

Who may not be atfected by the environment
2.

Who 1s well with the other people

3

Who 1s equally competent with others
4,

Question Number : 8 Question Id : 6232177067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The full form of ‘ITEP’ 1s

Options:



Integrated Teacher Education Programme

Intensive Teacher Education Programme
_ Inclusive Teacher Education Programme

In-service Teacher Education Programme

Question Number : 9 Question Id : 6232177068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

If a teacher wish to improve his classroom teaching well, he should better involve?

Options:

Personal Activity
1.

School programmes
2.

Governmental Activities
=,

Action Research

Question Number : 10 Question Id : 6232177069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The following 1s not a measure of dispersion
Options:

Standard deviation
1.

Variance
=z,



Quartile deviation
=

; Mean

Question Number : 11 Question Id : 6232177070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
An appropriate source to find out descriptive information 1s
Options:

. Directory
Bibliography

Encyclopaedia

Dictionary
4.

Question Number : 12 Question Id : 6232177071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The term ** Control Group™ 1s used 1n
Options:

Historical research

Experimental research
i

Survey research
=

Descriptive research
4,



Question Number : 13 Question Id : 6232177072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following 1s not related to plagiarism
Options:

Academic dishonesty
1.

Branch of Journalistic ethics
2.

Stealing and publication of another author
o

, Self-citations

Question Number : 14 Question Id : 6232177073 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

As sample size mcreases the following 1s true

Options:

. Sampling error increases

Sampling error decreases
2.

Non sampling error decreases
>,

Level of significance increases
4

Question Number : 15 Question Id : 6232177074 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The tull form ot APA 1n citation 1s

Options:



American psychological Association
1.

American Philosophical Association
z.

All people Alphabets

3

American Pedagogical Association
4.

Question Number : 16 Question Id : 6232177075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Scaling method 1s used to measure

Options:

Quantitative variables
1.

] Attributes

Associations

Relations
4

Question Number : 17 Question Id : 6232177076 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The data collected from records 1s called
Options:

Census data
1.



Primary data

2

Secondary data

&

Field data

Question Number : 18 Question Id : 6232177077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The Null hypothesis contains
Options:

. Population parameter

Sample statistic
i

Sampling distribution
=t

Estimator
4.

Sub-Section Number: 2
Sub-Section 1d: 623217236
Question Shuffling Allowed : Yes

Question Id : 6232177078 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19to 27)
Juestion Label - Comprehension



Read the following passage and answer the questions given:

From the 1920s onwards, we also find an increasingly active engagement of
women in the freedom struggle. Much has been said — and with justice — about the co-
option of women’s struggle for subjectivity into the nationalist agenda. Yet our analysis
would remaimn simplistic if we do not admit that the increasing active participation of
women in these nation — wide movements was changing the parameters of man-woman
relationship both within the movement and in society in general in subtle and indirect
ways. It was also making dents in the ideological boundaries within which the
consciousness of the middle class woman traditionally operated. The experience of
participating in the Non-cooperation Movement and courting arrest involved a
perception of oneself that did not tally with traditionally — constructed self — umages.
Then again when women, in their contact with armed revolutionaries, graduated from
the role of giving shelter and hiding arms to that of participating in or even leading
armed action, they had to breach very stiff barriers of conventional behaviour. There
15 no doubt that the strategies of the armed revolutionaries imposed severe control over
women’s sexually and that the ultimate leadership in armed struggle remained with the
men. Yet it cannot be denied that this participation demanded that women should create
new roles for themselves and in doing so should transgress norms of gender and class
relationship. This process became more pronounced when women joined mass-

movements organized by the Leftist forces.

Sub questions

Question Number : 19 Question Id : 6232177079 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What was the turning point in our Freedom Movement from 1920s?

Options:

1 Withdrawal of women from the Movement

Passive role of women 1n the Movement

. Increasingly active engagement of women



Conflict between men and women
4.

Question Number : 20 Question Id : 6232177080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What was the option of women 1in those times?
Options:

Subjectivity into the national agenda
1

Mere observation of the movement
=

Supporting men from home’
=]

, Non —nterfering attitude

Question Number : 21 Question Id : 6232177081 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Why were the parameters of man — woman relationship changed
Options:

1 Imposition of British culture on Indian society

Women’s opposition to male domination
z.

] Increase 1n the rate of women’s education

, Active participation of women in the Movement

Question Number : 22 Question Id : 6232177082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The 1deological boundaries of the middle class women of 1920s were

Options:



. Steadfast

. Moditied

. Dangerous

) Strengthened

Question Number : 23 Question Id : 6232177083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
| What were the reasons for transformation of traditionally constructed self-image of women?
Options:

Women’s active participation in the freedom struggle

1

. Women taking part in Non-cooperation Movement’

Women courting arrest and going to jail
3.

All of the other options

4

Question Number : 24 Question Id : 6232177084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Why did women breach stiff barriers of convention?
Options:

To lead armed action

To discourage the male activists and revolutionaries
2

To disconnect themselves from the Movement



To control their sexuality
4.

Question Number : 25 Question Id : 6232177085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

How did the men revolutionaries keep the ultimate leadership in armed struggle with
them?

Options:

By restricting women to household chores
1

, By sending women to educational institutes
. By encouraging them to learn handicratts

By imposing severe control over women’s sexuality
4,

Question Number : 26 Question Id : 6232177086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What did women do 1n order to create new roles for themselves?
Options:

Trained their children to be patriotic
1.

Abided by the norms of society

2

Transgressed gender and class
=

Honed their skills

4

Question Number : 27 Question Id : 6232177087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



To further their role in armed revolution, women joined mass movements organized by

Options:

1 Mahatma Gandhi

Leftists

2

Arya Samaj
=,

Azad Hind Fauy

Sub-Section Number: 3
Sub-Section I d: 623217237
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 6232177088 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

One of the following 1s not related to the areas of Johar1t Window’s interpersonal

communication.
Options:

1 Hidden Area

y Known Area

] Blind Area

; Unknown Area

Question Number : 29 Question Id : 6232177089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O



The questioning device of communication “who says what in which channel to whom

with what effect?”. Suggested by
Options:

. Herald Laswell

, Herald Lasky

_ George Gerbene

Herbert spencer
.

Question Number : 30 Question Id : 6232177090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The purpose of the freedom in communication results in
Options:

1 Authority
; Reduction

. Control

) Demotivation

Question Number : 31 Question Id : 6232177091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Computer Assisted Instruction (CAI) 1s based on one of the following principle.

Options:

1 Classical conditioning

Sender conditioning
2



Operant conditioning
=

Respondent conditioning
4.

Question Number : 32 Question Id : 6232177092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Berlo’s model of communication has the following four elements

Options:

. Source, message, noise, barrier

Source, message, channel, receiver
2.

Source. channel. receiver. feedback
=,

Source. receiver, message. medium
4.

Question Number : 33 Question Id : 6232177093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Community radio comes under
Options:

1 Instructional Media
Social Media

=z,

. Mass Media

: Digital Media

Question Number : 34 Question Id : 6232177094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



‘Diorama’ 1s an extension of the following
Options:

1 Four Dimension

Uni — Dimension
=z,

] Two — Dimension

) Three — Dimension

Question Number : 35 Question Id : 6232177095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

In a ‘Dyad” communication. the number of persons involved are

Options:

-

1 D

4

2

t_hn

Question Number : 36 Question Id : 6232177096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

‘Hermeneutics™ 1s a branch of knowledge. whose main role of the teacher 1s to
Options:

1 Teach the philosophy of behaviour

, Interprets the meanings of codes



_ Indicates the process of communication

Announces political statements
4,

Question Number : 37 Question Id : 6232177097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The number that comes next in the sequence 4. 60, 212 1s

Options:

339

%)
s
N

Question Number : 38 Question Id : 6232177098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

i - . B sk snd
Identify the missing number in the sequence 33 500, g, . 60.
Options:
. 0

45
z.

3

46—
3 O

33
4.

Question Number : 39 Question Id : 6232177099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which term comes next in the sequence YEB. VHG, SKL. PNQ. ?

Options:

MQV

1.

MOR

2.

ROS

3.

SQT

4.

Question Number : 40 Question Id : 6232177100 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A man purchased 20 watches for a cost of X200 and sold them for I300. What 1s the

percentage of profit he got?

Options:

50

1

40
z.

= 60

100

4.

Question Number : 41 Question Id : 6232177101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
If x:y=3:4, then(5x+3y):@x+7y)=

Options:

11:8
1.



2.

27 - 40
=

40 : 27
4

Question Number : 42 Question Id : 6232177102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The average marks of 23 students 1s 45 and the average marks of another 27 students

1s 55. Then the average marks of all the students put together 1s

Options:

50
1.

50.4
z.

48
>,

48.

rh

Question Number : 43 Question Id : 6232177103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The difference between the compound interest and the simple interest on a certain sum

for two years at the same interest rate 8% per annum 1s 64. Then the sum 1s 1n rupees

Options:

. 15,000
_ 12,000

_ 10,000



8.000
4,

Question Number : 44 Question Id : 6232177104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In a certain code 4523 1s written as 5476 and 2871 1s written as 7128. Then the code

for 2018 1s
Options:

. 7198l

9001
z.
7901

5798

Question Number : 45 Question Id : 6232177105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A train passes a pole of height 3 meters in 10 seconds and a platform of 130 meters

long in 36 seconds. Then the speed of the train in km/h 1s

Options:

23

18

Sub-Section Number : 4
Sub-Section I1d: 623217238
Question Shuffling Allowed : No



Question Number : 46 Question Id : 6232177106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which word does not belong with the other?
Options:

, Congar

) Leopard

. Elephant

Lion
4,

Question Number : 47 Question Id : 6232177107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The word in the bottom row one related in the same way as the words in the top row.
For each item find the word that completes the bottom row of words
Candle, Lamp. Flood light

Hut, Cottage,

Options:

1 Tent
City’
2.

. Dwelling

House
4,

Question Number : 48 Question Id : 6232177108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In the following a statement 1s given. The statement 1s followed by two conclusions.
Identify which of the given conclusions logically follows:
Statement:  Some actors are singers. All the singers are dancers.
Conclusions : 1. Some actors are dancers
2. No singer is actor

Options:

. Only (1) conclusion follows

) Only (2) conclusion follows

. Both (1) and (2) follows
, Neither (1) nor (2) follows

Question Number : 49 Question Id : 6232177109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In the following series. you will be looking a pattern. Fill the blank in the series.

SCD, TEF, UGH, WKL,

Options:

. CMN

UJI

2.

\A|

ar

T

4.

Question Number : 50 Question Id : 6232177110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In the following series, vou will be looking pattern. Fill the blank 1n the series.

BCB, DED. FGF. HIH
Options:

JKJ

1.

HJH

i

. 1l

JHI

4.

Question Number : 51 Question Id : 6232177111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Here are some words translated from an artificial language:
Hepllesh means cloudburst
Srenchoch means pinball
Resbosrench mean minepin

Which word could mean Clonalnine?
Options:

1 Leshsrench

) Haplresho

Haploch

3

, Ochhapl.

Question Number : 52 Question Id : 6232177112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



If the day after the day after tomorrow 1s four days before Monday. What day 1s it

today?

Options:

Tuesday
i

) Wednesday
] Thursday

) Monday

Question Number : 53 Question Id : 6232177113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Rama is younger than Rao

Raju was born after Rama

If the above two statements are true. then which the following statement 1s correct?
Options:

. Rao 1s older than Raju

_ Rama 1s older than Raju

Both Rao and Rama are older than Raju
=

None of the other options
4,

Question Number : 54 Question Id : 6232177114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Knowledge based on memory 1s known as

Options:



Direct perception
.,

Indirect perception
2.

. Inference

Analogy
4

Question Number : 55 Question Id : 6232177115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

mformation answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eyes
JTanuary 4 6 6
February 6 2 8
March 6 4 1
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8

The total number of successtul operations performed during the months having 31 days

of the given period is
Options:

37
1 o

48

z.



Question Number : 56 Question Id : 6232177116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

information answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eves
January 4 6 6
February 6 2 8
March 6 4 4
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8
The percentage of successful operations from January to April of the year 2019
Options:
; 40
, 00.5
5 62.5
. 04

Question Number : 57 Question Id : 6232177117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following tabular statement which indicates the performance of department
of surgery of a hospital for the period January to July 2019. Based on this

information answer the question given below.

Month Total successful operations Total unsuccessful operations
ENT Eyes
January 4 6 6
February 6 2 8
March 6 4 4
April 8 4 6
May 4 4 4
June 2 4 6
July 1 3 8

If there are 50 more operations left to be performed. then how many operations must

be successful in order to make the overall percentage of successful operations to 60?
Options:

, 42

Lad
(]

Question Number : 58 Question Id : 6232177118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Study the following figure carefully and answer the question given below. In the

figure O represents the students studying Mathematics, represents the students

studying Physics and|  |represents the students studying Chemistry.

3y

Students who study Mathematics and Physics only are represented by

Options:

C

> E

Question Number : 59 Question Id : 6232177119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Study the following figure carefully and answer the question given below. In the

figure O represents the students studying Mathematics, represents the students

studying Physics and[  |represents the students studying Chemistry.

A

2 L

Students who study Chemistry only are represented by



Options:

1 B.GDandF

Dand F
2.
3_ C.D.EandF

i D.E and F

Question Number : 60 Question Id : 6232177120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure carefully and answer the question given below. In the

= SEm : 3
figure (_J ) represents the students studying Mathematics, represents the students
studying Physics and represents the students studying Chemistry.

/”fT'\H
[ =] |
N 8 S

Students who study all the three subjects, i.e., Mathematics, Physics and Chemistry

Options:

1 C. Dand F
5 Band C
. CandF

C

4.

Question Number : 61 Question Id : 6232177121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%. B — Paper cost 25% C — Binding cost 20%. D — Royalty 15%
E — Promotion cost 10%, F — Transportation cost.
If for a certain type of books, the publisher has to pay 24000 rupees towards Royalty,

then the amount to be paid towards the transportation is in rupees.
Options:

. 16000

, 12000

10500
3.

16800
4

Question Number : 62 Question Id : 6232177122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%, B — Paper cost 25% C — Binding cost 20%. D — Royalty 15%
E — Promotion cost 10%, F — Transportation cost.
The angle of the sector corresponding to the expenditure incurred on the binding cost,

is in degrees.
Options:

1. 36

48
2

Question Number : 63 Question Id : 6232177123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following Pie chart represents the percentage distribution of the expenditure
incurred in publishing a book. Study the chart carefully and answer the question

given below.

A — Printing cost 20%, B — Paper cost 25% C — Binding cost 20%, D — Rovalty 15%
E — promotion cost 10%, F — Transportation cost.

If for a certain edition of a book, the paper cost in rupees 55000, then the expenditure
involved for the printing and the transportation together is in rupees

Options:

, 50000

66000
2

. 45000

38750
4.

Sub-Section Number: 5
Sub-Section 1d: 623217239
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 6232177124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following pollutants (s) can cause cancer in humans.
Options:

, Mercury

Lead
2|



- Ozone

. Pesticides

Question Number : 65 Question Id : 6232177125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which year Biosphere reserve project was initiated in India?

Options:

, 1986

, 1984
1989
3

1985
4,

Question Number : 66 Question Id : 6232177126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Phytoplanktons are the members of

Options:

Grass land ecosystem
8

, Forest ecosystem
; Aquatic ecosystem

, Desert ecosystem

Question Number : 67 Question Id : 6232177127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Photosphere is described as the

Options:



. Lower layer of atmosphere

Wave length of solar spectrum

- Visible surface of the sun from which radiation emanates

Global warming

Question Number : 68 Question Id : 6232177128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The earthquake waves which have transverse movements are known as
Options:

. Secondary waves

5 Tidal waves

. Primary waves

J Surface waves

Question Number : 69 Question Id : 6232177129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A lunar eclipse occurs when.

Options:

3 Sun. Moon and Earth are not in the same line
. Earth comes between the Sun and the Moon
. Moon comes between the Sun and the Earth

Sun comes between the Earth and the Moon
4,
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“Joy water fall” is located in
Options:

Karnataka

5 Kerala

: Andhra Pradesh

n Maharashtra
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The central pollution Board was established under the following Act in India.
Options:

; Water (Prevention and control of pollution) Act, 1974
; Air (Prevention and control of pollution) Act. 1981
- Urban area (Prevention and control of pollution) Act. 1976

, Noise pollution (Regulations and control) Act. 2013
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According to Andhra Pradesh government sand mining policy announced on

4™ September 2019. the stock yards are operated by.
Options:

, APMDC

, APPCB



. CREDAI

. AP Green Tribunal
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Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The full form of FTP is
Options:

, File Transaction Protocol
5 File Truncation Protocol

y File Transfer Protocol

File Transfer Processing
4
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With regard to computer memory which of the following statement (s) is/are true.
(1) ROM is volatile memory
(i1) RAM is volatile memory
(111) Secondary memory is volatile

Options:

1 (1) only

) (11) only

. Both (1) and (i1)

; (1) and (i11) only
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If binary equivalent of the decimal number 48 is 110000, then the binary equivalent
of decimal numbers 51 i1s

Options:

. 110010

110011
2

, 110001

110100
4.
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Which of the following is not open source software?
Options:

1 Internet explorer

, Open office
] Fedora Linux

, Apache HTTP server
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Firewall in computers is used for

Options:

Security
1

X Data transmission



3 Authentication

y Monitoring
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IC chips for computer are made of
Options:

, Silver

. Aluminium
- Silicon

. Steel
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The following protect computer system from hackers.
Options:
Antivirus
1.

, Backup
; Hard disk

Firewall
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“IT for mass™ is a plan scheme.

Options:



. Department of electronics and information technology
o University grants commission

. MHRD

; AICT
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The full form of NPTEL is

Options:
g National Programme on Technology Enhanced [earning

, National Programme on Technology Enforced Learning

National Project for Technology Enhanced Learning
=

National Project for Technology Enforced Learning
4
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The first Open University was set up in the State of

Options:

. New Delhi

, Arunachal Pradesh

3_ Tamil Nadu

Andhra Pradesh
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During Vedic period the students who studied in Gurukula lived in

Options:
s Ashram

. Gur’s house

Parents’ home
]

2 Forest
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The concept of ‘Smritimana’ given by Yagva-Valkya was based on the principle of
Options:

Accuracy
1.

" Purity

. Yagna

3 Memorization

Question Number : 85 Question Id : 6232177145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The Buddhist Education was offered in

Options:

: Home

Sanghas
Z.

Ashramas
o



, Congregation
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In an Open University one of the system of evaluation will be

Options:

. Formal Assessment

Summative evaluation
=

- Self — evaluation

i Formative evaluation
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‘Build school in every village’ was propagated by
Options:

1 Robert De Nobilli

- St Xavier

5 St. Thoinas

Robert Clive
4,
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An illiterate and ignorant nation can never make any solid progress and must fall back
in the race for life” said by

Options:

1 M.K. Gandhi



, Sarvepalli Radhakrishnan

: G.K. Gokhale

. Raja Ram Mohan Roy

Question Number : 89 Question Id : 6232177149 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The original meaning of *Vandemataram’ sung by students in the schools is
Options:

, Long live the King
. King is the God
. King and God are alive

’ God save the King

Question Number : 90 Question Id : 6232177150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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‘Shikshak Samakhya® (Teacher Empowerment) was initiated and first began in the

state of Madhya Pradesh by UNICEF emphases on

Options:

. Teacher effectiveness

Teachers’ creativity
2:

Teacher autonomy
3

Teachers’ creativity and Teacher autonomy
4
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BN, IMEl -INvIl, <l4idrd]

Question Number : 148 Question Id : 6232177208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

ST IS R¥BR UHdld 2] AEcdaR] 31 R¥Pd-ad & AR FEl
PH T -

Options:

[ Y

qglcd] 949l 3Eg Ud, [Taa

1

[

dd, feIex, 3=, HEledl IHl

=



= Ud feday, HEed] 94l

4,

Question Number : 149 Question Id : 6232177209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

[ N .Y

UeIeH 4 & AR 14 foRad a1 - IRl @1 98l %1 ¢ -

Options:

SIS - FotiEad - BT 9 - g

§iIed - f2=<1 U< - SIeldlfer] - Uollidl

Question Number : 150 Question Id : 6232177210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

BRI ‘U] Bl SUAMI Bl UBIAT 98 & ATAR Hal 3FHH &

Options:

Sjcld, f&de dRTE, <IEdul, URdl IRGAI

1.

s M

(b dRE, S[ofd, IRl URDAI, SIeyl

2

L~

=l UR$I, <Eaul, So™, [dad dRR

3



STedUl, IRl TR, Sofd, fbde R

Question Number : 151 Question Id : 6232177211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

SUSHIY 319F & D] B UPITH 94 & SRR TR el 3EFH & -

Options:

©ol dcl, Bg, IS, SHE-URS

&3, IS, SU-URNIY, Tl dcl

SSM, SU-RIGg, el dcl, &g,
SII-URIS, Tl dcl, g, SsH

Question Number : 152 Question Id : 6232177212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

TH] WA & SUIRI 1 UHIIH 9 & YR TR TEl FFHH © -

Options:

(O~ UlolRlEll I3 U4 ©R ol dlollacl

1

IR UU =X ol dlclldel [O~THl Ulellfidl

Ulciletell [O~Tavdl dicllgel, 313l UU =X dol



dIellde]l To—THdl dlelietell 313l 4d ©R ool

4.

Question Number : 153 Question 1d : 6232177213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

UPISH 9 & AR 51 USiddl Bl Fel 3PH © -

Options:

AR, HOUIIeld, 31941%‘1 311‘ SICE

1.

HHUITCTT, AV, SR, MUl

f"'\t'\

JAUclD, A, BBV, ALY

LRI, DOV, JAcild, AT

4,

Question Number : 154 Question Id : 6232177214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

UbIeM 99 & ATER 31 21 ST Bl Hel AqHA 2 -

Options:

d94, 4&l @I <lell, Al Qe

1.

feegr, T, el a1 Sldll, THd

fd<1, gl 31 <lell, IHAl, 99

o



qal @1 Sloll, {Qedl, 9, dIHAl

4

Question Number : 155 Question Id : 6232177215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

OIIAIG] BIedl Bl YT-IbIl & IR Fal 3P4 = -

Options:

BMHIIA], Toold, oIS, SITiOl

1.

JoTiIeTd, Yoold, SIUi9Rgl, BHIgH]

Joold, Joldlard, SIUfRdl, B

Uoold, BIHIAH], Jelderd, SITioREI

4.

Question Number : 156 Question Id : 6232177216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

UBIM qY P AR UHHS P SUIMNI Bl Hel AIPH 2 -

Options:

T, T, T, A
(e, 9, A, HEA
DHYA. g, YA, FH

g




[, SHYH, YA, 19

Question Number : 157 Question Id : 6232177217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Pl AR R 39 IAA] B Fel AHH € -

Options:

ECICIUSECICICENI CUBEASCIRICES

pordidaiAgl, f[der], Yyyvl, FRdmivr (el

2

 Teqrafer Brardl, yuvn, 9B, Pedias

R, v B2urdl, Yuvl, perafaAs

Question Number : 158 Question Id ;: 6232177218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

ST BN UdIe & UidgINI® AIcdi &I 9al $H & -

Options:

3O, TSI, Y], 4o

1

s

fd9Id, 3ISIIAer, YavaIiml, TS

AL, TS, 3ToIderd, (A9



[Q90, ST, TS, YAl

Question Number : 159 Question Id : 6232177219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
31 Bl BIA-Picdl Bl UBIAT 94 b MR IR Tl 3HPA & -

Options:

AFR Hs1, F&l Dl e TR BRI, YIgd, dER] 3N

4

el Bl i W TR, YIgd, IMa¥T 3R], IR Fo

[ [ [N M

IGd, €Ex], 3], AR Hgl, 76l Bl Fid IR B

=

[ [ =

IaR] 3MeN], IR oI, YiIgd, 7l Bl b TR Bl

4.

Question Number : 160 Question Id : 6232177220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

J<ldTellel 991 & UIdEIe UMl Bl Hel 3P & -

Options:

[ARTCT Bl Q] YdIed S, SR, gl

1.

SR, HAliRd 5, I, [dRICT D1 giqH]

2.

I, PR, favier o) uf}Ed), guned

q4I=d 5, [dR1el &1 9ieHHl, SR, JIdHl



Question Number : 161 Question Id : 6232177221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Oy N

{11 fotlad eafv-woul Bl Id IEIENvl & | Faleld DI |
(a) STEIY HETHIV] & () 7T

(b) €Y 37U V] &ai (i)
(c) HgEd &R e (i)
(d) SR @l

g2l fddey 2 -

Options:

a-(111) b-(1) c-(v) d-(n)

a-(ii)  b-@i) c-(v)  d-()
a-(i)  b-(i) c-(Gii) d-)
a-(v)  b-(ii) c-@)  d-i)

Question Number : 162 Question Id : 6232177222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

=1 foIRad Y=FAIBRI Dl D] YR & HIY YHiold DI |
(a) ALY (i) M
(b) YIS
(c) HirelleRvl Y (i) AN
(a) TISORIMIER (

Hel fdeea & - (v) "TIHRd




Options:

a-(i)  b-(i) c-@i) d-(v)

a - (iii) b- (@) c-(tv) d-(v)

a-(1v) b-(1) ¢ - (111) d- (11)
a-(11) b- (V) c - (111) d-(1v)

Question Number : 163 Question Id : 6232177223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

(771 [eIRad ‘91el’ @l 39% Yddal & | gafold BIy |

(a) fdgare (i) #=C
(b) DS (i) SIT<ad+
() ToedEs (i) SlPR-R U]
(d) SIIPRAE (v) <LUgH
9l fddbey B - (v) SR de®

a-(v)  b-(i) c-(i)  d-(ii)

1.

a-(i)  b-@i) c-Gi) d-(iv)

g

] a-(1v) b-(G11) c¢-(V) d-(1)



a-(iii)  b-(i)

c-(1)

4%

Question Number : 164 Question Id : 6232177224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

O O™

™ o, N N g hY AN Ay
1 [IRad SU=IR @] 998 SUUNGRI & HI \Hleld &ll

(a) €Rdl € ¥ YL

ge! fddeq 8 -
a-(1v) b-(v) c¢-(1)
a-(11) b-(1) c-(V)

a-(v)

o

a-(v)

(i) I Al

(i) cg)wu CIDEe!

(i) 12

(iv) #iIellel el
(

v) ST T
d- (1)

d-(iv)

d- (1)

- (1)

iz

Question Number : 165 Question Id : 6232177225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0



=1 foIRad Y=MIPRI Dl D! TRl & W GHlod BIfY |

(a) HEICHM Il () PwIDel
(b) = USRI (i) Dol
(c) g T (i) Ubderl Jg Ul
(d) W9l €dH () ogm Tl
el [y § - (v) dremEd]

a-(1v) b-(@1) c¢-(n) d-(v)

a-(v)  b-(i) c-@Gi)  d-@)

a-(1) b- (V) ¢ - (1v) d - (111)
a-(1v) b - (11) ¢ - (111) d- (V)

Question Number : 166 Question Id : 6232177226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

11 forRad If@Isl &l I9d UBIAUd I | FHleld BINY |

(a) TAHM AR (i) feeell
(b) HHDICIA AR Al (i) ¥9IRYE
() =¥ (ii) TREYR
(0) SEIESE (1v) I
el ﬁav—cvq g - (v) oTeiFTe

Options:



Cas(v  be(
as®  b-0)
Ca-(@v)  b-()

a-(iii)  b-(ii)

4.

c - (111)

c-(11)

¢ - (111)

c- (1)

d-(v)

d - (iii)

d-(v)

d-(1v)

Question Number : 167 Question Id : 6232177227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

1 forRed <=l 3l 31 UBIeH 9y & |l gHfeld BT |

(a)
(b)
()
(4)

Options:

a-

a-(11)

a-=-

d

- (1)

Jllcleld @l Od

[P eIl
TP Uid & 1Icd
3l oy 2

g2l fadey 2 -

(v)  b-Qv)
b-(v)
(1i1) b - (11)

b - (111)

c-(11)

c-(V)

c- (1)

c-(1v)




Question Number : 168 Question Id : 6232177228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

=1 [IREd ATl S 4l Bl 390 UBIeH ay | FHleld BIRT |
(a) SHAUS (i) 1968
(b) SMEfTD Bidl DI Hedid (i) 1970
() FEW & T AHA (i) 1960
(d) TG (iv) 200
o] fadeg © - (v) 1962

Options:

a-(1v) b-(Vv) c-(11) d-(1)
a- (1) b-(1) ¢ - (111) d-(v)

a-(11) b-(1) c - (111) d-(1v)

o

, A (111) b-(V) c-(1) d- (1)

Question Number : 169 Question Id : 6232177229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

-1 [oIRId BEFIDR] D! ITD! BEI-™l & HIA FHlC BT |

(a) Q@R Sl (i) SMHTER ARl

(b) GUSTHHINI TEH (i) szﬁ Pl TCAR

(c) ST el (i) dfee

(d) e g4l (iv) NI=l
(v) RIFd] dSer ™I

g2l fdbeg 2 :-

Options:



a-(1) b-(m1) c¢-(V) d-(1v)
a-(11) b-(um) ¢-(1v) d-(1)
a-(11) b-(1v) c¢-(1) d - (111)

a-(1v) b- (V) ¢c-(1) d-(1)

4.

Question Number : 170 Question Id : 6232177230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

ARMSD (2=l el VARl Bl Sd JA-dblell A GHfold DIy |

(a) SIded (i) 147l orcl
(b) IURTIIDR (i) 127l ol
(c) PITIHI (i) 117l 9rcil
(a) Stadeafdd gl (v) 13l ol

el [ddbey B - (v) o df ercl

a - (111) b-(1) c-(V) d- (1)
a-(v) b-(1) ¢ - (11) d - (111)
_a- (1v) b - (11) c-(V) d- (1)

a-(1) b-(u1) c¢-(Qv) d-(v)



Question Number : 171 Question Id : 6232177231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
=1 forRad Sl @1 S o] & | YAl DIy |
(a) I RTEPHWI S (i) 1PraarR s
(b) Dol Bl HVIGR (3MIdIS) (i) M fdeIsg omHl
(c) fRTen @) Wt A (iti) STIARI
() feTPR Udb HEo1 Yo iv) SIS el

el fdopey B -

(
(v) # "SIl

Options:

a-(i)  b-(i) c-@) d-(iv)

a-(1v) b - (11) c-(V) d - (111)

a-(1v) b-(Vv) ¢-(11) d-(1)
a-(v) b - (11) c - (111) d-(1v)

Question Number : 172 Question Id ;: 6232177232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
¥ Rgid 9dell IR @l 39¢ Il 9 gHield SIfNY |
(a) Hecdlledle (i) Yfedars

(i) SeURIAIS

(i) MAAlITarS

1\,)
v) Al

(
(

Options:



a-(1) b-(1v) c¢-(n) d-(v)
a-(1) b- (V) c-(1) d - (111)
a-(1) b-(v) c¢-(1) d - (111)

a-(v) b-(v) c¢-(in) d-(1)

4.

Question Number : 173 Question Id : 6232177233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

{71 forRad v | aferdl &l S1d AIgH-31ade wUl | gHlod BT |
(a) el Bl (i) o1 ATl Uy
() e R () TS amder
(c) T (i) ToIT=l AU
(a) ddl 2=l (iv) <IRHHI MUYl
el [dd B (v) AR Jrayel

a-(111) b-(11) c-(V) d-(1)
a-(1v) b-(v) c-(11) d-(1)
a-(1) b -(11) ¢ - (111) d-(1v)

a-(1) b-(1) c¢c-(V) d-(1)



Question Number : 174 Question Id : 6232177234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

2=l HIidd & SIAE™ Ul Bl S ogd] & I FHlold BT |
(a) T2l W2 Bl SATAAASD Sl (i) Sl Ul I% I

(b) 2=l wf2cy @1 SEI SidE™ (i) SI el ™
(o) <l T @1 951 3lie (i) <[ I=1 T
(a) 2= WIiz@ @1 Y SiEM™ (iv) 3Tl TS el

el f[dded B - (v) SINMHHIR Il
Options:

a-(11) b-(1) ¢ - (11) d-(v)

1.

a-(v)  b-(ii) c-Gi) d-@)

Ca-(iv)  b-(i) -G d-()
a-(v)  b-(ii) c-@G)  d-(ii)

Question Number : 175 Question Id ;: 6232177235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

=1 [o1Rad uIeere B eniedl 3l S+ fagidl | gHford By |
(a) oIR.URTUSH () PregvmI RIEid
(b) TLUN Sfele (i) fdaardl gl
(c) <M HIRTH (i) Wclpdral RIgid
(a) <LU. BgH (v) Mdafdaea RS
Ael [dped ¢ - (v) ou gl

Options:



a-(v) b-(1v) c¢-(n) d- (1)

a-(v) b-(1) c-(1v) d-(11)
a-(111) b-(1v) c¢-(1v) d-(v)
a-(111) b-(1) c-(V) d-(1v)

Question Number : 176 Question Id : 6232177236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
o~ N ~

[-1=1 feIRad Sfddl @l S ol & | gaferd Sy |
(a) Il (i) deoMEN

b) DAR (i) °rg AIf2gES
(

i) XTI

iv) 20 gu gl

(
©) o

_ a- (111) b-(1) ¢ -(11) d-(v)
a-(v) b - (1v) ¢ - (11) d-(1)
, a- (11) b - (111) c-(1v) d-(v)

a-(11) b-(11) c-(v) d-(1v)

4,

Question Number : 177 Question Id : 6232177237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0

=1 forRad HIuIell @l S WaeR-&Al & | GHford By |

(2) I (i) PEIR

() SFRI (i) TAFRR

(€) g (i) <R ¥R

(d) HusI (iv) Ydi=el Uid
el fdee 2 - (v) BIel AR

Options:

a-(v)  b-() c-()  d-(iv)

_a-(iv)  b-()  c-() d-(V)
a-(iv) b-@Gi) c-(G)  d-m)
a-(11) b-(1) ¢ - (111) d-(1v)

Question Number : 178 Question Id ;: 6232177238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

for=1 forRad 2=l fdel @l $91d fFeUeR] & |l GHied iy |

(a) STRI WISl & 3IM U™ (i) AMeR R

(b) forawf (i) PRI ™

(c) Hwpld 2R died (i) fdd@l I

(d) BS SIFT HHIBR (iv) 9l Hee
el AT B - (v) WAREI 35

Options:



a-(11) b-(1) c- (V) d-(1v)

a-(1) b - (11) c-(1v) d-(v)
a-(11) b- (V) ¢ - (1) d - (111)

a-(111) b-(1) c-(V) d- (1v)

4.

Question Number : 179 Question Id : 6232177239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

=1 forRad Slaar-<iide! B ST Siddl & | gafed S |

(2) s weE () AT
() TR R ) Ao
(c) 98 <9 3rcpell (i) %Lfilﬂ
() s8Y 1’19 (v) 3r=t

el fdeed 3 - (v) ¥H2Iedl 9

Options:

a-(ii)  b-@) c-(iv)  d-(ii)

1.

a- (1) b-(1) c-(V) d-(1v)

2

a- (1) b - (11) c-(1v) d-(1)

5



a-(1) b-(1) c¢-(V) d-(11)

Question Number : 180 Question Id : 6232177240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

=1 fori¥ad oiddl @I S Sildd DIl |§ GHiold DINY |

(a) HIC RV (i) &1 1997-1987%
(b) SHEABY ™IS (i) T 1900-1978 S
(c) RTem (i) T 1896-1961 %
() gHAAFEA 9d (v) I 1886-1964 3

el [deed B - (v) 9 1880-1937%
Options:

a-(11) b-(1) c-(1v) d-(v)

a-(v) b-(v) c¢-() d-(1)

a-(1v) b-(V) ¢ - (111) d-(1)

a-(1v) b-(v) ¢ - (111) d-(11)



